Unit 1 - More Revision.

1.  In the first week of opening a new museum had 9853 visitors.  In its 8th week of opening this number had dropped to 6352.  Express the decrease of visitors as a percentage.

2.  James received £600 from winning the lotto.  He decided to put the money in the bank.  His bank pays 3.5% interest p.a.  How much money will he have in total after 9 months in the bank?

3.  Ashley decided to purchase a new fridge freezer on hire purchase.  How much did she pay in total if the deposit was £100 to be followed by 18 payments of £55?

4.  Lyn received a 3% Christmas bonus from her employer.  If her annual salary is £21500, how much of a bonus did she receive?

5.  Harry buys 4 boxes of chocolate for £8.80 and Stacy buys 6 boxes of the same chocolates for £12.90.  Who got the better deal?
6.  Evaluate the formula 9x – 7y 
when x = 6 and y = 7
7.  If the cost of hiring a car is £30 per day plus 12 pence per mile, how much will it cost Harry to hire a car for 5 days and drive 260 miles?


8.  Calculate the volume of the cuboid


(b) Round your answer to the nearest 10cm³
9. A flower bed is surrounded by 8 semi-circular metal fences. Calculate the length of metal required if each semi-circle has a diameter of 15cm.

10.  Shannon runs a book store and decides to hold a sale.  How much will Gillian pay when the total of her purchases is £23 and she gets 33⅓% off?

11. Calculate the area of the following shape




12. The cash price for a second hand car is £3500.  It can be bought on hire purchase for a 20% deposit followed by 24 equal monthly payments.  Audrey buys the car and works out that to buy on HP it costs exactly £182 more than the cash price.  How much are the instalments?
13.  There are 540 pupils on the school roll.  297 are girls.  Express the number of girls as a percentage of the school roll.

14.  The formula D = 4√h is used to calculate the distance, D kilometres, of the horizon from the top of a cliff height, h meters.  Find D when       h = 72.

15.  Bill wants to insure his computer for £1700.  The premium is £1.25 per £100 of the value.  How much will his premium be?
16.  The cost of 7 copies of a magazine is £4.55.  How much will 5 copies cost?

17.  The currency in Bulgaria was the lev.  If the exchange rate was £1 = 2.96 lev convert 750 lev to pounds.  Round your answer to the nearest penny.
18.  A cuboid is 45cm long, 32cm broad and 26cm high.  Calculate the volume of the cuboid giving your answer in litres.
19.  The cost of a bill is £52.98 excluding VAT.  If VAT was to be charged at 17.5% find the total cost of the bill giving your answer to the nearest penny.

20.  The rule to calculate the cost of a gas bill is:


Cost = 23 + (number of units x 0.08)

        Calculate the cost of 650 units of gas.
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